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P44 H HA: pi) S
(4x* — 2x+ 4)(3x — 6) + 2x + 4 Sx— (1 - 2x)(5x — 2)(4x — 5)

(4x— 6)(2x— 3)(3x — 4) (4x — 3)(5x — 5)(4x + 2)

o+ 4)(5x—3)—x —3x+5 2x— (5= 50)(x + 5)(x + 5)

(5x° — 6x— 6)(2x+ 2) — 3 X 6x— 2 Sx+ (2 + 6x)(dx + 1)(2x + 4)

3x+ (2—x)(2x+ 5)2x + 1) (4x + 5)(4x + 3)(6x — 4)
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(4x* = 2x+ 4)(3x — 6) + 2x + 4
12x° — 30x* + 26x — 20

(4x — 6)(2x — 3)(3x — 4)
24x> — 104x% + 150x — 72

(F+HGEx—3) - —3x+5
50 — 42+ 17x— 7

(5> — 6x— 6)(2x+2) — 3 x 6x— 2
10x° — 2% —42x— 14

3x+ (2—x)(2x + 5)2x + 1)
4 — 4+ 2x + 10

H HA:

Sx— (1 —2x)(5x— 2)(4x—95)
40x° — 86x% + 58x — 10

(4x— 3)(5x— 5)(4x + 2)
80x> — 100x” — 10x + 30

2x— (5= 5x)(x+ 5)(x+5)
5¢ + 45x% + T7x — 125

Sx+ (2+6x)(4x+ 1)(2x+4)
48x° + 124x° + 65x + 8

(4x + 5)(4x + 3)(6x — 4)
96x> + 128x” — 38x — 60
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